204.   The friend got the quarter and the three-cent pieces.  I got the fifty-cent piece, two dimes, and one penny.  The merchant got the dollar and the five-cent and two-cent pieces.

205.  With b > c,  and (a2 = (b2 + (c2 , two boys split the left side of the equation, getting 
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 each.  The other two split the right side of the equation.  This can be accomplished by splitting each of the smaller pies in half, each getting half of each.  Jones’ solution may be simpler given his interpretation of the directions, but it is certainly more trouble.  He suggested that the smaller pie with radius c be placed concentrically on top of the larger pie with radius b, that the difference (annulus) be cut from the larger of these two pies, and that the annulus be divided in half and shared, as the two small pies are also shared between the two.. 

206.  40 rods.  This problem is most easily solved by transformation.  Draw the eight-rod segment from the barn to the river, and then reflect just that eight-rod segment across the river.  Call the “northmost” end P.  Likewise reflect the four-rod segment to the brook across the brook.  Call the “southmost” end Q.  The length PQ is the length of the shortest path. 

207.  One is twice as fast as the other.  Let d be the total distance between Dallas and Houston and other representations as shown below.

	
	rate
	time to first meeting
	distance to first meeting

	fast train
	Rf
	t
	Rf (t

	slow train
	Rs
	t
	Rs(t


	
	rate
	time for remaining trip
	distance for remaining trip

	fast train
	Rf
	1
	Rf  

	slow train
	Rs
	4
	4Rs


First distance for fast train = second distance for slow train: Rf (t = 4Rs 

and

First distance for slow train = second distance for first train: Rs (t = Rf .


Dividing these equations produces 
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208.




209.




210.  13:3

211.   Six cuts/welds for a straight chain = 24 cents.  Seven cuts/welds for an endless chain = 28 cents.

212.  Draw 
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 perpendicular to River Dance and reflect it for 
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 perpendicular to River Kleenix and reflect it for 
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 and its intersection with River Dance at D and River Kleenix at K.  The shortest path is from A to D to K to B.

213.  Think of a regular tetrahedron

214.  Think of two regular tetrahedrons with a common base.

215.  If the weight of the rope is disregarded, along with inertia, jerks, and elasticity, both rise together.  If the weight of the rope is considered, the climbing monkey sinks.


216.  Fourteen days.

217.  No.

218.       

219.  Forty-four

220.  There are three chickens for every horse.

221.  Seven cents to the boy with five and one cent to the boy with three.

222.  
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223.   540

224.  Five hundred forty.

225.  Six hundred sixty-three feet.

226.  LCM (2,3,4,…,9) ( 1 = 2,519.

227.  Son gets ½ , widow gets ¼ , daughter gets ¼ .

228.  30,290 ft2  .

229.  One hundred one feet.

230.  Two hundred sixty-four.

231.  The solutions to #208 and #209 above should provide sufficient inspiration.  

232.  Thirty-six.

233.  9054.13

234.   8 + 8 + 8 + 88 + 888 = 1000

235.  Twenty-seven

236.  Letter the five left column squares from top to bottom with A through E.  A jumps to C; D jumps to A.  B jumps to D.  E jumps to B.  C jumps to F.  The right column mirrors these jumps.

237.  There are four daughters and three sons.


238.  





239.



240.  Two solutions different from Townsend’s:


33 ( 3 + 
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33 ( 3 + 
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Others of this format are likely.


241.  Bottom brick:   

  Bottom with next two on top:




All five:


242.  Eighteen.  Each bottom number is the square of the top number with the digits reversed.

243.  


     4
        Move #4 to above #1.  Move #5 above #2.





       Move #2 to below #1.  Move #1 below #5.



             1   2    3 
       Last, move #3 below #1.




     5

244.  




        Not a solution: not IDENTICAL         Correct solution


245.



246.






247.  Move from 2-3 to 9-10.  Move from 5-6 to 2-3.  Move from 8-9 to 

5-6.  Move 1-2 to 8-9.


248.  



249.  Small: 7   Medium: 3   Large:  3







Biggest: 1






Total: 14



250.  







251.  98 ( 76 + 54 + 3 + 21 = 100

252.   1 ( 1 = 1

253.  Hint:  First move the coin in the second row, last column, to the space in the third row, second column. 
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